Q) &
£t
=
A1 41
{ L=k #=0
b)
=)
t B 7] 67
Z=0 2=
c) y
+ b L
41

({-I l (% '1,; 'fl.'_-

Prob, Dusk T
H{UU—}cr'ffrfzﬂ_i

Z=Q1-41. - -2  #- /_‘_II_H?_-:_O_
(o) 10
5~ ,06 = _L. 4777

table ¢+ #=1.28 c'alo /. A8

X= 47 + / As5(lo) = 59.P
5? & /mnw/—ﬂ‘

Qﬂ\é‘;’fﬁ 2= 100 (a0 == [, 15¢7]
. A0

SN

<= -l Z= 133 '/&o =,(5

T o0 120 433
:'I ) :lbs
Z € Z

q)
-

TQ ~ ,1587= m
c)

dalde . - b1z cale 2=-47
Xz tldl 1304 (470 =/Jp6 L




Chap &
Pob Dist fov (ot

3 % . \/Q;V:ﬂ-bl&r
A = A00 =
N & 7 |
ch > = [97-280 - =[5
. I S [-6¢e8]
o
. Z- J0.5-g00
: 2 . = 035
. ") l:; ms” S /%)//37
le
| -%]\ Z- |H.5 200 =z =D, A5
LA | = |
g Z= 190, 5900 =70,75

-5

Aol
(R _ [ AdLp [-1747 ]



